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[ 461,000
Jl 89,140
< 3,185,649
CH 200,000
o 12,165,868
AHAE 3,275,995 4,472,610 1,196,615
= 3,070
== 457,790
CH 200,000
[Ea 2,615,135
HdEANE Edat 1,076,425 219,310 857,115
= 438,000
CH 200,000
= 438,425
HSAE 243t & AIEE K2 146,425 219,310 AT2,885
201 er23| 119,310 119,310 0
01 At2teltl 31,310 31,310 0
CHEAF ®IQHBE| B
200,000 #3H + 123 7,200
STEAT AgtoIdB| B
210,000 %30} A 122 7,560
CHENT Yot A5 B
200,000 34 2+ 123 7,200
oMSAIE 45t S2S(8+2, oHN)
NES 425,000 22 850
oMEANY E2E LI HH
5,000& *1,7000H 8,500
2 2229 88,000 88,000 0
SBUAE B2
300,000 304 A 123 10,800
SEUNF 223
200,000 #3042+ 123 7,200
O3EAES(EE AAHCIAE) FIIHEES
2,500,000& <2 A-*232] 10,000
oHENY SE8E=>
20,000,000 *30H 2 60,000
401 AlZHIZ S 0HbI 27,115 27,115
01 AlZH| 27,115 27,115
oNSAE HA HlgE ZX
2,465,000 = 117K 27,115
EENMSAIE ANESHUSAIE (HEALY) 730,000 0 730,000
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T 292,000
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401 AlZHIZL SO 730,000 0 730,000
= 438,000
= 292,000
01 AlIEH 728,175 0 728,175
CEENSAY ALSUA
728,175,000 728,175
=S 436,905
s 291,270
03 A& S CHYI 1,825 0 1,825
CEENSAE AEESUEAY
1,825,000& 1,825
= 1,005
= 730
EENSAE 22D 2AH205 XLAZUHEIIS) 200,000 0 200,000
CH 200,000
401 AlEHIZL SO 200,000 0 200,000
CH 200,000
01 Al&H 200,000 0 200,000
CHUEMEAT 2DLUTAI EHEY
200,000,000 200,000
CH 200,000
AN st 1,806,180 3,862,990 A2,056,810
== 6,000
o 1,800,180
FHEdst 18,180 14,990 3,190
201 2= 10,180 8,490 1,690
01 AtR2t2lt] 10,180 8,490 1,690
ol Ngdst gF =AU MRES
330,000& *32 990
oAHIANIEHY2AARS BH-E
70,0003 %122 13 840
oZNEH AR B2 MH
2,500,000& 2,500
cZNEH HRFN S4H|
9,000& x5 *130 5,850
202 04l 6,000 4,800 1,200
01 =LHAHI 6,000 4,800 1,200
odMNEY gR=A
20,0003 x5 »60! 6,000
203 =4l 2,000 1,700 300
03 A=A 2= 2,000 1,700 300
oHMEXM AM2E HR2FA
500,000 x4= 7| 2,000
Mg Ed ¢ 29 1,788,000 2,048,000 A.260,000
= 6,000
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SMEH WA L B2I(FHEH)
8,000,000,000& *1. 1% 88,000
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14 IIEt2 83 1,400,000 1,440,000 40,000
oMEA oIT BEHS(ZHIXIY)
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[Ea 24,000
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13,700,000,0002 *10% 1,370,000
303 Za= 1,000 1,000
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CAEH SHRE WAl ADEAS
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= 3,070
= 13,790
= 376,530
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= 3,070
[ 13,790
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oAdEl N2ANY 28 & E2= MH
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oAdBUNAY AR E4+E
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SEEFSER-EEEE
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20,0003 38 »30 1,800
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SORYSHH ALEX
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NIEEEET 19,000 20,000 A1,000
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19,000,000 19,000
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08 OIXt2d = 59,779 59,779
cQRAAXA JIXE SHES(NLAE
U2l Z8aH) 59,779,000 59,779
ARAAXY IR SES(2023) 15,221 0 15,221
307 212+01& 15,221 15,221
08 OIXt2ES 16,221 15,221
cPLANS JHXE SHES(NLEAE
U8dis ZagxH) 15,221,000& 16,221
HURS ZE=06l= KF A 148,000 140,000 8,000
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oXHEAG M 2tE3l EAX 24t
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T 7,200
= 10,800
301 LPENZ 18,000 26,040 8,040
& 7,200
= 10,800
14 J|EtE A2 18,000 26,040 8,040
oR=RE CHAEHIIE 23 Atel KA
18,000,000& 18,000
T 7,200
= 10,800
e dES ST 245 ALY 28,000 0 28,000
= 16,800
= 11,200
201 LB-2AY| 3,600 0 3,600
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03 A2 G| 3,600 0 3,600
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14 J|EtE A2 12,000 10,800 1,200
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& 27,920
o 41,880
14 J|Et2 A2 69,800 61,200 8,600
oY s|Y CY= SEAE
69,800,000& 69,800
= 27,920
= 41,880
FdE 2= XE 520,000 520,000 0
& 208,000
= 312,000
307 212+01™ 520,000 520,000 0
& 208,000

- 167 -




2A:

2Atel B M A

Hu: olpEMEZ
Chel: IRy 2435t (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 312,000
05 212t =S 520,000 520,000 0
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= 26,700
o 62,300
ESSHSE 89,000 60,000 29,000
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SABIEFRINIE EE= HE
2,800,000& 2,800
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= 1,960
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& 5,640
= 13,160
11 HAIAHIXI A2 2,000 0 2,000
oA EFNDOIYE BiXIor =&
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= 1,400
14 J|Et2 43 16,800 16,800 0
SABIHANIIY BEHEI} HS
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& 5,040
= 11,760
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= 93,476
02 QIZHBAAIEER 133,536 583,800 A450,264
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